01.* (@9 IeEd GIM [REaa (e 120 &9 g@d Wt 83 & sifde, 90 &= «ifeqia ¢ 60 &« +iffe s
offemreRTY Sow fanR Mtz | sifte weEr «ifeerens e 1'oe @RibE @ awme Qe 92

02.

03.

04.

05.

(a) 53 = (b) 23 &= (c) 7 o (d) 43 T (€) 67 &

120

TT: (c); 75T @HDE @R 120-(23+60+30) =7 Q@»

Vi +—i @7 7 s @ 2 |
(a) 5i (b) i (c) 2 d) 2 (e) 242

i)+i2(1—i)=~ﬁ

g (d); «ﬁ+«/—7i=%(l+ 7

X+y x Y
X x+7 7z | 9T &FW0 2

Y Z y+2Z

(a) 4xyz (b) 2(x-y)(y—-2)(y-2)(z—x)  (c) 2xyz
(d) 0 (e) -1
X+y X y X+y—X—y X y

f

Xx—x—2z x+z z | ¢, =c¢,—(c,+c;)

TqI9E: (a); | X X+zZ Z
y Z y+z y—y-—2z Z y+z

0 x y 0 x vy
=-27]1 x+z z | =2z|0 X -¥ r; =1, —,=—2Z l(—Xxy—-Xy) =4xy z
1 Z y+2Z 1l z y+z
x> —11x+a=0 aRx’-14x+2a=0 fgre Fq(aeracza G0 AL T AP @ AT VNS LAl
(a) (0,—24) (b) (0,24) (c)(,-1) (d) (=2,1) (e) (2,1)
argE: (b); x* —11x+a=0..........(1)

) x2114x+2a=0 ......... (ii)

a =3x
(i) zte x*-11x+3x=0 ..x=0,8 ..a=0,24
Arefs foq fon Tea@aR™ Ay TAUTFE 1,2,3,4,5,6 937 GIFOHEE | Aeemiel i T 49" vose Ao
41 A2

(a)140 (b).35 (c)70 (d) 21 (e) 32
s (e); (1, 2,3, 6), (1, 2,3,7), (1,2, 4,7) aft {7l (are @ vogs 67 T4l IR A7 |

;. (I vege FeRyt 'C, —3=32




**;:: s,f.w *- KUET, CUET, RUET &9 3 I 14T

@2+1  (b) e+5 (c) e+d (d) e+3 (e) e+2

2 T2 U =4 z,‘i*;l(r_lm—sz;'.‘;ﬂf-!+3;%=4e—3e+3 =e+3
1
I

07. cnsecz(tﬂn_ E]—secz (cnt“ ﬁ) T T T8

11 s T
a)l b) 2 c) — d) — e) —
(a) - (b) _ (c) 3 (d) ; (e) y
FAYH: (C); l+c0t2[tan" %) — [1+ tanz(r.:u::nt_1 x@)]= (1 +4)—(1+%}=1§1
08. BE.in"‘g—Ssin2 E+1 G N @FFI0 2
(a)2sin* O (b)2cos* 6 (c) sin26 (d) cos26 (€) cos’ 20
4 B 29 2 B 29 2 e 2 9
A (d); 8sin” ——8sin“—+1 =-8sin“ —|1-sin“— [+1 =-8sin’*—.cos’—+1
2 2 2 2 2 2
.0 07 .
=2 251115::{155 +1 =1-2s1n“0=cos26
Alternate: Let 6 = 1,then check options (short cut)
09. ABC &N fagter 3 B+C=2A =W, @@ 2acnsB_C 97 T FEG?
a’+b*—c? b* +c? —a’
a b c)a+b d) c+a e) b+c
() ook (b) ™ (c) (d) (e)
5 B+C B-C
T (€): ar= sinB:> b+c sinB+sinC T 51y
7 ¢ sinC C sinC sinC
25inA.cos——=  2x2Ra.cosC_C
y) _ B-C
= * = . 2acos =b+c
sinC 2Rc .
l-tan 0O T
10. I g(0) = o, O __e) 7 T FE-
&) 1+ tan O g[4
(a)sin® (b)cosB (c) secH (d) cosecb (e) tan O
o) l-tan O Tt : % T T
AAYA: (€), = = ——0|; ——0l= e =
(€) g2(0) [+ tan 0 tan(4 ] g[4 B] tan(4 4-!—9] tan O
11. 4x+3y+16=0 aR4x +3y+26 =0 ENEEFT TGS [Hp F9?
(a)10 (b) 2 (©) 5 (d) 4 (e) V26
,—c¢, | 10
FAYH: =—=2
(b) a +l::2 S

12. «3io owoa &fefo g, B(1,1) ¢ C(—1,~1) &7 7 5257 Aer avw uafo fage o7 9@ I ovawer 5 af @3 |
5@ [T P(X,y) 99 F9[0F TR (PIN0?

@)x*+y’=5 () x*+y*=25 (c) x—y=10 (d)x—-—y=5 (e) x+y=%10

I TR ) o (|




! . KUET, CUET, RUET 9¥ 3 A NI{Id

{ aagats
x Y x y 1 ,
T (d); S |1 1 1=5 ::-?ll- 1 1 1=5= E{x(1+l)—y(1+1)+l(—1+1)}=5
-1 -1 1 -1 -1 1

:%{2:«—23()}:5 =x-y=5
13. 154 wiass craee (%8 uea IP@T 2x — 3y =5 9R3X —4y = 7 A 08T TASA (FIH0?

(a)x*+y* +2x-2y=62 (b) x> +y*+2x-2y=51,

(©) x*+y*—=2x+2y=47 d) x* +y* —2x+2y=62

(e) x*+y° —2x—2y=49

HLH: (€); @™ T PEEE @A = (1,—1) ~IPME = [2227 o (x—1)2+ (y+ 1)% = 72

T

14, @3> THIET TFAAT TAE X GRY TFEET TAF WIEF© | TG0 §+%=l @EAE X WCFT TATT G

%+%=1WYW%@MW1%@%§WWWE
7 13 J5 11 J11
@ Y7 ) Y13 © % @d
6 7 3 9 6
xl yl
FAYE: (€); — +bz =1 T (5, 0) 8 (0, 6) T Mz ¥
a
2
a?=25en b =36 - e?=1-L. 236225 11
b 36 36 6
im x*+bx+41
15. qq I« Fo7?
X% %2 fax +9
41 b
(a) 1 (b) 9 (c) z dO0 (e)
1 b 41
T (a); im x*+bx+41_ lim XX =1
X >0 x’+ax +9 x-+or::1+a+9
L
X X
16. ¥ y=axsinx WX xzyz—nyl+(x2+2)y a7 I A5 @Ao?
(a) 3 (b) 5 (c) -2 (d)1 (e) 0
AMYE: (€); y=ax sinXx = Yy, =a(XcosX+SinX) = y, =ax cosx +asinx
:>y|=axc05x+i :::3,;2:a(—zh;s.inx+f::n:15':~:}—i2+lyl y
A & X |:asinx=—}
= x’y, = x*(—ax sinX +acosx) — y + Xy, X
l - (=¥, 1
=K2[.—3’—;+KY;]—Y+KY1 s acnsx-[xz +xy,J

=Xy, ==Xy -y +Xy, —y+Xy, =X y,=—(x"+2)y+2xy,
=x%y, —2xy, +(x* +2)y =0

Alternate: leta=1,x=0 ~y=xsinx=0

X%y, —2xy; + (%2 +2)y=0.y,—2%X0+2%x0=0
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17. @ x¥ =e* Y 37 oragE jx—yxﬂawms

| Inx (1+Inx)? (1+Inx)?
a C d _—
@) (1+Inx)’ (b) (1+Inx)? (©) In x @ (Inx)’ (E) Inx
saE: (b); x¥ =e™ Or, ylnx=x-y or, y(Inx+1)=x or, y= 2
l+Inx
1
dy (l+1nx)—x.; In x
dx  (I+Inx)>  (I+Inx)?
18. [ —(1+xIn(x))dx @5 @S2
X
(a) e"In(x)+c (b) l-12"‘ +c (c) e’ +c (d) —ij'e" +c  (e) In(x)+c
w

STRIYE: (a); _[—(1+xlnx)dx _[ ( +lnx}dx =e".In(x)+c¢ U e“{f(x)+f'(x)}dx =e“f(x)+c]

/4
" sin20

19. 1= |- do &% TN @B?
> sin” O+ cos' 0
m 1 - - .
)3 b) 7 - d) = L
() ()4 (0)5 ()4 (E)6
srane: (d); 1= [ SN2 4q [cos® O =T St 3]
0 sin*B+cos*O
|
2s1n0 cosO x
1=I% cos’ 0.cos0.cosb 46 =.[% 2tan O sec’ 0 46
: 1+ tan® 1+tan‘ 0
Let, tﬂnlf:]:p :>2tanﬂsec2[-}d9=dp
When, 9=U, p:ﬂ
T : 3
El:— =1 1= - = |t =

20. & e P @R 2quﬁaﬁ@m%1emﬁ‘wﬁwmmw 8 s Ifm wwra afge e
oS A | P @q T 97

(a) 4 9T< (b) 6 us= (c) 12 935 (d) 16 a3< (e) 8uTs
P 2P
@) T apag T

21. 20cm3E %2 s AABC BC,CA 9= AB 38 I9K9 T famamie 7 5 8 3 a3 Jeefem afeq I
F© g TE I BC IRF @R (7 FA?

A
AN
120°
>
B 7 C
(a) 2 93 93 IRFS@BC 20 cm @ (b) V3 oz a3 IReFEIBC 15 cm @
(c) 3v/3 «3% @ 3fRgFSR BC & 25 cm @ (d) 2+/3 93= 9R IReFE@ BC @30cmea

(e) 4 9FF @R IReFEI™@ BC 20 cm A

AR | | ST




Sfwianise Bey o -l g @ E ®  KUET, CUET, RUET 25 8 T

14 (d); FcosO=7cos0°+5cos120°+3cos240°=3.

Fsin0=7sin0°+5sin120°+3sin240°=~/3 . F=2./3
22, GIGF G @IF FF ASTE AT ToF 4 Km Ffore 1w O3 S0 58 9917 5 Km Fiers (Fas WK | S

NG e T©?
(a) 5 Km/hr (b) 4.54Km/hr (c) 444Km/hr (d) 4.50Km/br (e)4.33Km/hr
AYE: (C); u, =t£ (1) 5 U, =ti ......... (11)
| 2
(el g,
u, u,

y=2d 24 _ 2 __ 2  _444km/hr =444km/hr

t+t, d d ( 1 1 ] 0.25+0.2 -

+ +
u u, u, u,

23. @3 A1 Fva o1 87 5.5 KgSwEa I8 G/ F90e A | 47 o aFF© Gl g% Aol Tudw

PACT STGIET S0 PITT (77 ¢ R 1.2 ms ™, O3 #irefb (or 91w | @ba sa w92 [g =9.8 ms™ ]
(a) 5.45 Kg (b) 49 Kg (c) 4.5Kg (d) 435Kg  (e)4.15Kg

AAYE: (b); ARE max "™ 4= F09 AT So, T =5.5%x9.8=53.9

Here, 53.9=m(9.8+12) = m =%=4.9kg

24, GIEF JPA S MR T 40 ToE W AfelS A oo R 120 e v ofolt B ewiag sy
TS It | Tow geE AT e fof s GO 1005 <1y Ae AET | A &F1F S &fefre @ 16
T ¢ B @R AgR afeltre e 32 wER a Adw 10400 T [ s o siedis 3o @i
FAEA?

(a) 2700 e (b) 2550 Ta@ (c)2880Tam  (d)2773 @R (e)3220 M
g (¢); 40A +120B<10400
A+B<100

to maximize: 16A +32B

Now, 40A+120B=10400 =A+3B=260 = . + = =]
260 86.67
A+B=100
Maximizing , z=16A +32B
(80, 20) z=1920 (0, 86.67)—
(60, 40) z =2240 I PDrew (40, 60)
Jﬁ'ﬁ (80, 20)
(40, 60) z=2560 % 75 77 -
(20,80) z=2880 (100, 0)

(0, 86.67)  z=2773.44
So, Maximum 2880 T&¥ #® FT@ AREA | (Ans:)

B TR} 0 {0




T ) g § 0

25. ST MREE WSS « 967 10 -:ﬁlm:jo ﬁﬁemﬂﬂmﬁammmﬁs‘wﬁﬁ 12 A Gifers w2ar 5 =T

ey 2enw W Fo?

6 9 11 3 3

— b) = akd d)2 i
(a) o1 ( )19 (c) o ( )? (e) o
FareE: (b); wiifers sedrt =11, 13, 17, 23,29, 19
5wt fefen = 15, 20, 25 . p (Gif) :T%

3 6 3 9

5amifesrE) = — - p(Total) = — + — = =

P T A A TMTT

e

26. «=fb el 54 km / hr Wft @ (ATF 2m/sec® AT T o7 ¥ F@?

(a) 4.0sec (b) 7.5sec (c) 6.0sec (d) 10.0sec (e) 15.0sec.
Fq¢E: (b); u=54km/hr = 15ms™, a=2ms”, v=0ms™, v=u—at

u—-v 15
i= = ="7.5sec

d
27. <l T 9F3 @0 GIFAT 30" T @ o @I 60° @I FNTws 391 26 | §2 O WIE® WA Sweaad

TS oy <59
(a) 182 (b) 123 (c) 124 (d) 253 (e) 285
2 il ano 2 12 o a2 2ano
sramee: (b); H _u’sin” 30 ;HI:u sin”“ 60° H, =s?nj 30° 1
g g H, sin“60° 3

28. 500kg=ww «3fo M 50 kg SRS F@ 7 30m / sec @0 558 WRFW IR BE 9% = 100m Pis
PITT it 31w | 9 Ee e T 3
(a) SOON (b)750 N (c)1000N (d) 1500 N (e)3375 N
T: (€); 0° =30° —2a.100; a=4.5ms™ | F, =ma, F ={500+(5x50)}x4.5 =3375N
29. 200mg e a3 I8 10 m THS! (T N6 AR | T-FOTF =~ 317 % Jors «F 1o oo 317
(a) 1961] (b)19.6 J (€)19.6x10°J  (d) 19.6x10°]  (e)19.6x10* ]
Faryi: (d); e 9o & = mgh =200x10°%x9.8x10 =19.6x107J
30. @3 Igfes = fFm w7 @20 @ T gftam ¥ 30rad/sec @RT @ o =T |~ @R
T F6?
(a)335.1rad/sec’ (b)33.51rad /sec’ (c)31 .4kgl- m* /sec(d)3.351cm/sec? (€)3.351rad/sec?
900

4t x 20

= 3.58 radsec™

YA (€); ©° = ) + 200 = (30)° =07 + 20(21 x 20); a=

3.351rad/sec’® (F==1E Answer)
31. 0.5kg °@@ @3 3@ 0.5m A 93 o= TR IS {0 AT =0 | 7 8 2ife Girers 40 IR

O Y ARG I BF (FAF SR T F97]
(a) 0.314kg-m’/sec (b) 3.14kg -m* /sec (c) 31.4kg-m?/s
(d) 31.4gm-cm’/sec (e) 314gm-cm’ /sec




i< ¥ o ; @ { ) 8 KUET, CUET, RUET &7 8 T4

4 . \ Sx4 : .
g (¢); L=mwr =0.5x UXZIEXO 5 x (0.5 = 0% O><2'irr><0 XV =31.4kg —m’ /sec
32. 30hpFwer /(8 i’ 2fgrTa wwer 50% | 3301beraa W3 I@eE W (ATF 750 ft oo were & 2fera
TS AN FA5C?
(a) 20sec (b)30sec (c)29sec (d) 31sec (e) 28sec

e (b): P = 3301b =149.685kg
7t | 750ft =228.6m

W 149.685x228.6x9.8
t=— —=t=

p 30x0.5x746

33. @3l Te g (FrHa AE TSI 20m | &S FLrE T (@fE AT TR SRRIREE Gred T e 2@
e @t 0.5 MW g Teog Fate «a?

(a)254x10'kg (b) 25x10°kg  (c)25x10°kg  (d) 25x10*kg (e)25x107 kg
mx10x20

S 1=29.97 = 30s

ST (b); p = — =>0.5%10° = —m=25x10%kg

t
34. 93 azg JENE ¥ P fRed | T iz sy pad Sjfdlw afSedE g WG od | TF Atz

& i€ e gaan soed of fFdr 39 |
(a) 2o (b) 4 et (c)8 @ (d)10 @ef (e)16 e
Ry YV — LV — . Ve _ | _8eRg =l. V =4V
FATLI: (b)# Vw: _'\/2gERE ) Vu - ‘\lzguRu 5 Vu JSEEZRE 4 ’ u E
35. O30 CNIE M (0 ST 91 ZE AT (FE-Ie 6 24?7
(a)2 (b) 24/2 (c)4 d) V2 (e)4+/2
arg: (b); Lt =\/E = EL-:JE T2=x/§.T] =22
L v V'L

36. 7 TN g o™ A8 BEq U W@ 1107 m8 4x107° m | SSTCE T F97 =4l BT A 9T
e Bua i 3w 4w 201 A e B @a ToAmitad TR @3 e enes gt 39 |

(a) 131 (b) 182 (c) 231 (d) 421 (e) 1:4
-3 -3
FgE: (d); T, =1{; : I‘B=4x;0 =2x107; £, =44,

F,=F, L,=L, .Ya_@x107)" 4 .y /Y, =4s]

-3 2 -_1
4[10]
2

37. 100 %ﬁfﬁﬁ G35 BT AfS IO FIF @ee e 3taa 1% 5 Hz -3?

(a) 100 I (b) 150 7 (c)180 T= (d)200 T (€)500 A
5 5
sgE:(c); f=mn; n=—— .. 1 9O YEE = —x3600=1803F
(c) f=mn; n=—0 100




B B8R M SR ; @ E,.. &  KUET, CUET, RUET &Y 8 ATNIH

38. P ¢ Q 9o I *ww @ @ 300 m/sec 9k 350m/sec | YT GHOTS *THT SAF Ara ATy
0.1m X 3R =AFE S55 F9F 1% Q T Foue J0a?

(a)77m (b) 60.5m (c) 38.5m (d) 30.5m (e)28.5m

TEE: (¢); V, =300; V, =350; lQ—-J\.P =0.1

V. V 1 - 350
2——P=0.1 @, —=(350-300)=0.1 ~f=500; V.=A.f;: A.=2"" =07
f f f( ) Q. 9 500

S=NA=55%x0.7=38.5m |
39. 50Q @new feon M 2A @917 100secv@m e 0°C Srmas Fo5F AT Sremmr 48°C 9 e z=?

(a) 500gm (b) 300gm (c) 100gm (d) 50gm (e) 25gm
22 x50%100 .
FagE: (¢); I'RT=msAO; m= =99.21 Gn
(©) T T 4200x48 gm (&)
40. @3> GG NG SRR 27°C S#Iufar @ 2 IS BT W | I IS R (FLB I OF HOIS Srorral
s y=1.4
(a) 27°C (b) 300°C (c)246.1°C (d) —26.9°C (€)273°C
- I 04 _04
s (d); TP 7 =T,P, v ; 300x21% =T,x1 4 - T,=246.1K = —26.9°C
41. @3 I e 400K i@ o Be7 @ 200 cal STt AT FT 9 S FIFLF 150cal S T8 T |
SR ST T2 |
(a) 400K (b) 200K (c)150K (d)300 K (€)450 K

Q _T _ 200 _400
Q, T, 150 T,

42. GI AT TR TPIE lem GIR TRIGR FICT 985 3.2x 102N/ m | 000 36T 8 Foom@ T
wiefae® sieaa s fefy =

(a) 12.8N/m*> (b) 6.4 N/m? (c) 48N/m*  (d) 3.2N/m? (e) 1.6 N/m?
4T  4x3.2x107

TgE: (d);

:. T, =300K

TareE: (a); P=— =12.8Nm™
r 0.01
43. N TR 3@ o7 Tm @ @3 Sfmies % S A TF T (S 10 watt ST T T | @14
foaiore UaR SfoR T AN FANEANE & T4 F© FTS! (T 2 :
(a)10 watt (b) 20 watt (c) 30 watt (d) 60 watt (e) 90 watt
Y (e); Hfates cvta R, =3R
. R
TG LA O 1:~tp=E o, p=L - B_R =3 _ 1. P —9x10=90watt
3 R P, R, 3R 9
44, @3 ROTOF Jrew v IRT @ TG 8, 1200, 16Q €200 | vd LT A F© @Y [FoIT MIS
0 fq=ft AT e
(a) 202 Cyat STa_r (b) 4 Q & AT (c) 24 Q) FTEAE AN
(d) 200 e TR (e) 8QTHIEAT ST
T4H: (b); %=%; S=12;lﬁ=24ﬁ S 4Q QY Hfats 3o 0o 9 |




SRR By g ' ; .(a\).} 2 B KUET, CUET, RUET 2 3 FI¥

45. 15Q Q4T G0 SN SEAE G ATTSIT T8 41 AR, TS SIET 9y e ¥ 32 aFTRmd CFase
WCEF 2 | AR @1 TS FA?

(2) 40O (b)30Q (€)55Q (d) 600 (&) 750
A
R,x—1
ste: (d); p =i Rafds 15XA, 2 . R,=60Q
L, L, L, 2L,

46. @3 @EE O G 0.02m | 9 0.05m IFIER Jred #Aff% o e orfr Ty i 2.5 A R
1R T BT (07 GIRICwE ey e o9

(a) 2x10°Wb/m? (b) 5x10°Wb/m? (€)2.5%x10°*Wb/m?
(d) 7x107° Wb/m* (e) 7.5x10° Wb/m*

F¢E: (a); S=r10 g-5_002_2 . _2x180
r 005 5 5x3.14

-7
Gy, B= p‘ul % 0 =4>{3l4}i]0 325}{2293
2r 360 2%0.05 360

47. 18cm CFIE Jared AFb SAwe 7ot AN (FI7 I8 IR foq o faffe sares afefar Teog g7 1 wefd
(U I 99 97 |
(a)15 cm (b) 18 cm (c)12 cm (d)3cm - ()10 cm

A (C); @AM, V= —3u 2-———=—— == —

ﬁ o 18cm 3u 18cm

48. @M TFAH AHT WSTTH) € WS (FIFH A9 WIEFE 2cme Scm 9R O TGS @9 16cm |
SFSHATF A F© i AP0 IF AR Wiermd e 20cm 77T AfSR™ «nsar Ia?
(a)4.2 cm (b) 3.2cm (c) 34 cm (d)2.2 cm (e)2.4 cm
1 1 1 1 1

A (€e); +—= T, - =l(m@m‘ﬂa‘%ﬁ?mﬁ) S.u, =4cm
Med Met E u 20 5

¢ c c c

=22.93°

=2x107°T =2x10"° Wbm™

S~ u=12cm

a9, v_+u,=L=16cm ..v,=12cm

Lyt b g Ly =24cm

1
u v. f u 12 2 .

o o 0 o

49. T3 SR 99 TG B9 9x 107 kg | T4 @ft WA @UIE 4/5 SR TR @ AfeRe ==

43,

O AF ©F $9?

(a)9x10”'kg  (b) 6x107°'kg (c)3x10”'keg (d) 15x107'kg  (d)25x10°" kg
-31

e: (d); m=——2— A, m = idadal =15x107""kg

=)
, c S
50. 100kg s&ta ¥ IF Fvyfaee =& e 2 Teg = Afawme vo?

(a)9x10'°J (b) 9%x10"] (c) 9x10"] (d) 9x10"]J ()1001]
TyE: (¢); E = mc? =100x(3><103)2 =9x10"]

|ECCH ¢




51. 1 atm oIt aR 3f6 W8 S1oay FEet ARKGENE G0 TE™ Swey 250ml = | oEE 9eiEkes @
1T o 3531 0T @ AR FFAPTR TR TSI T 120ml T | AT GFaneE Smes o7

(a) 50ml (b)130ml (c) 55ml (d) 65 ml (€)100 ml
FAEE: (C); pl(vl _x)=P2(V2 —}{) ::'1(“'1 —K)=3(V2 —x) v, =250ml, v, =120ml
=250-x =3(120-x) =3x—x =360—-250 X = 9ARE fFanefem e
p,=1at
—x =20 55 ml (Ans.) P, =1 dt,
2 p, =3p, =3 atm

52. @R TAr AEFee abites @ @G 10,000 Fefrete offe a9 ymd o | @ afites 50 &b [
10.0cm’ 9o 53+ toft T4t 20T | gaoifba FawifHG vo7 |
(2)83x10" (b)) 1.66x10"  (c) 83x10™  (d)5.0x10° () 8.3x107

TargE: (b); Wi so, = 653;313?32 x98 g=8.135x10""g
N Wi, x1000  _8135x1077x1000 . . .
gm egv of H,SO, xv 49x10
53.* g ems sy e C— C 5 *If& o1 331 |
(i) 2C(s)+3H,(g) —» C,H,(g) AH, =84.94KJ
(i) 2C(s) — 2C(g) AC, =1430.10KJ
(i) 3H, (g) = 6H (g) AH_ =1307.94KJ

(iv) C—H 357 *f& = 414.22 KJ
(a)390.45KJ  (b)366.70KJ  (c)310.14 KJ (d) 344.95KJ (e) 337.66 KJ

H H
TL: (€);H—C—C—H C.Hg ¢

H H C-CTFv =1
2C(s)+3H,(g) >C,H,(2) o e

AH (= {1xH; c_¢)+6xH; . {—AH, —AC,
= 84.94=H(_c) +6x414.22-1307.94—1430.10 = H, (.o, =337.6k]
54.* g ot 8 25°Cone @ e afited nzw off —771.40Kcals T, 3 Siew ©3a wad o 3% 24?

(a) —771.10 Kcals (b) =770.51 Kcals (c) 475.03 Kcals
(d) —775.51 Kcals (€) =771.69 Kcals

1 (a); CeHs — COOH(I) + = 0,(g) — 7C0,(g) + 3H,0())
An=7-==—->:Q,=Qy+AnRT

~7714 = Q, + (—3) X 1.98 X 1073 x 23f - Q, = —771.10 Kcals

55. 0.30gm S@EE @F TR FEE e qAge s 0.3560F 730 gF¥e T T | TF HIOUE FoHw
erife Fare 60.0ml0.1M HCl 94weE T3 | @ FR0d JIW S6dE O Fo 30E?

(a) 40 gm (b) 50gm (¢)30 gm (d) 60 gm (e) 58 gm
T (b); 20w ] =20 0.1 .. M=50:
M 1000

[Z ( GIE AR x BT AN ) afire = Z (T AT X DT FLAT ey ]

ECR | 5§
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56. fors mwﬁrmﬁm 225mnpere = 30 ﬁﬁ%mmﬁ@wﬁwﬁ:m%aswmwmv
[ @a wFfReE 9&"= 65.37]

(a) 2.74 gm (b) 27.43 gm (c)1.37 gm (d) 0.022 gm (e) 0.045 gm
T (C); W = — M = 65.37
nx96500 [—295A
_ 65.37x2.25x30x60 t =30x 60 sec
2x96500 n=2
=1.37 gm

57. <% oem@Ey 1.0mole @fifos affe @32 1.0mole 2=eacs fafEe <1 == | s=gw 0.667 mole @it
affre fermm et ax T o K 97 MW 4.00 1 IO @ 9%E TeAifTe @ AW @ Sreiran
4.0mole @fF® @32 2.0mole VT AT T?

(a) 0.333 (b) 0.667 (c) 6.0 (d) 2.0 (e) 1.69
Sol": (e); CH,COOH +CH,CH,OH —CH,COOCH ,CH, + H,O
Initial : 4 2 0 0
Equ : (4—a) 2-a) o Qo
Ke= — =4= o’ =4(8-6a+a’) = 3a’°-240+32=0 .. a=1.69
(4-0) (2-a)
58. 47°C wromam Feeffe wé-aima emf ¥ @2
(a) 0.0478Volts (b) 0.0487 Volts (c) 0.0742Volts  (d) 0.0715 Volts  (€) 0.4781Volts
RT 8.314x(47+273
satgi: (b); E = E pe/ped —-n?ln[C] =0.036— 3x£6500 )ln (0.25) =0.0487v
59.* =g @D @uafes gIa? [ Ans: a]

(2) CTIFSAT FITATAG, FAF FAETEE G2 CIEAT ARG 9 ST 739 |

(b) e, CIEANT FIEID QI I TS SAd 739 |

(c) GAfEarT T2@E, CTfEANT FEA WIR YIS T T F9 |

(d) AT SIS, T ARCTEs QI AGIFRIT FIMe 9T TATHIT | o
(€) TIT FACFES, GG A2 W2 GG FG-NHIRE T T 79 |

60. 0.376 gm weifie e Ffarer [t sace 17.1cm’ 0.05M Na,S,0, @3 =t | wieifye
SeIfee feemer et 39 | [ 1, a7 sfreefes 9 =126.9]

(a) 0.30% (b) 15.10% (c) 28.86% (d) 30.00% (e) 14.43%
— ( ) I, +2Na, S,0, = Na,S,O, +2Nal
253.84l,

2mol Na,S,0; —254g I, :"[11;019"‘0 OSJmnl Na,S,0, —25—;3 x8.55x10™* =0.108g I,

Rrewe! — g*;gg «100% = 28.86%

EECHR (v U




61. @b e @ R wdgam 30 76 e o erfids ww@ 0.40mol. dm™ == RfFe @ o3 7

AA?
(a) 0.023mol ™. dm’. min™ (b) 3.85x10 mol™" dm’.sec™
(c) 1.38x10” mol ™ .dm’.sec™ (d) 0.833mol™".dm>.min™" .

(e) 3.85x107mol™".dm’.sec™.
1 1

TYE: (¢); k=—= =1.38%10" mol"'dm?sec™
at},_: 0.4x30x60se |
62. =7 &= oxidebt= To¢sf oxide 3cT?
(a) CaO (b) MgO (c) ZnO (d) Na,O (e) CuO

TEH: (€); ZnO w1 «f ¢ ZnO +2HCl — ZnCl, + H,0
w2 € ¢ ZnO +2NaOH — Na,ZnO, + H,0
63.* farz Iffe @@ Sitfeatas wsfie?
(a) JrSA1ZG (b) TG (c) CEFINIRG (d) FRTAGIRG (€) ZTEFATIFIZG |
er: (d); FREBIES K,0. 2U0,.V,0,.3H,0

64. 1.05x10™*molL'Na(OH) m<ww [H*] @7 *f& ze?

(a) 1.05x10*molL" (0)9.52x10""molL" (c) 1.00x10™*molLL™
(d) 9.52x10™" 'molL" (€)1.05%x10" " molL"!
e (d); [H'][OH ] = 1x10™ = [H*] = 107" i [ [OH ]=1.05x107"]
1.05%10
[H"]1=9.52x10"""mol L™
65. BT @G T TYTF 8
(a) Hg,1, + 2NH, = NH,[Hg,1,]+ NH,]
SEF e
(b) 2CuSO,, +2NH,OH = CuSO,.Cu(OH), + (NH,),SO,
YT 1_
(c) FeCl, +3NH,OH = Fe(OH), + 3NH,Cl
SYTF
(d) 2KI + HgCl, = 2KCl + Hgl,
QYT
(e) CdCl, + H,S = CdS + 2HCI
YT
srgis: (d); 2KI1+HgCl, =2KCl +Hgl, (= wgscs)
66. STH FAH STARF ANTSR S 77- [ Ans: b]
(a) *MtE AT HAfFT 2o =F | (b)Cis ¢ Trans 9 T 71 B A |
(C) TR FIE ARITOL 2 | (d) @1 iee witeiw s fog o fite wes 3t |

(€) S TR T FUOT WIS 71 3 03 |

y g

:5-"‘-.
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67.* Qe WU A e o G RFS o oD R 7 AT [ Ans: ]
(a) 351 291%T T8 (b) 51 fireizer T (c) ST corBr T
(d) 513 (€) ST

68. (oETeRT “fere MRGUETW AREE Fé T T ol W @, 3.51mg WiRFE Qe Sy NH,,

0.0103M HCIl ¢ 3.69cm’ SRIStRz G391t eifits 30 | Sfafer M3 reaar 29 ey a2 |
(a) 15.16 (b) 18.31 (c) 14.28 (d) 16.15 (e) 17.05
sargE: (a); NH; +HCl — NH ,Cl I

I mol HCl =1mol NH; =17 g NH;

3.69 mol HC| = 17K00103K369gNH3 56.46}{10—4 g I\[I-I3 =(0.64 mg NH;

1000 1000

0.64x 4

3.51

69. ftza @ Rfemf w5 7 " [Ans: d]
(2) (CH, —C0O0),Ca +(H~-C0O0),Ca—252CH, — CHO + 2CaCO,
(b) 2CCl, — CHO +Ca(OH), — CHCI, + (HCOO), Ca
(c) CH,;COOH (aq) + NaOH (aq) — CH,COONa (aq) + H,O(1)
(d) RCOOH (aq) + NaHCO, (s) - RCOONa (a) + H,O(1) + CO(g)

(¢) CH; —CO —NH,(s) + NﬂOH(aq)i)CHE, —COONa(aq) + NH,(g)

70.  ZnCl, 2o @7 BefFfsre @ve, HCN @3 HCl 97 fnreis sifze f&iferar o9 & todt 22 [Ans: b]
(a) Salicylic Acid (b) Benzene cyanide (c) Phenol cyanide
(d) Chlorobenzene (e) Salicylaldehyde )

71.* @W @3 387 0.50 gm ¢ 0.774gm CO, @k 0.445 gm H, O Bl =00 | 3807 Fo1 0@ (7

(@) GH,O; (b)) CHO4 () GH,,0,  (d)CH,L0,  (e) C,H,O.

0.0103x

arE: (c); C.H, +(x+§]01 — xCO, +% H,0

L ] 14 [ ]
x:%zmﬂ:o 45 L 2x _0774x18 o X _ o _
44 18 y  0.445x44 y

(C)C,H,,0, =C:H= % =0.35

72. @ fOR AN AN e aeAege I 38.50 gm ©F w9 AT e | TG N S oFe 1.03 0,
BZICS 2O IET ST A TS (A7
(a) 3.53% (b) 4.01% (c) 3.74% (d) 3.85% (e) 2.75%

38.5
1030

T (c); 1 litre YHS *iffa ©2 = 1030gm .. % &3 =

x100=3.74%




73. G TGS @ T Twe @D ‘ [ Ans: b]

H H H
H -C-COONa H —-C-COONa H —C-COONa
(a) HO-C-COOH (b) HO-C-COONa () H - C - COONa
H - C - COONa H - C - COONa H - C - COONa
H H . H
H H
H —fI:-COONﬂ H -C-COONa
(d) H - (:;_ COOH (&) HO-C-COOH
H- C - COOH H - C-COOH
h b

74. 4.75pH @7 @3 IFR 39 tofF 08 0.02mole imfw affe ¢@eFe 1.0dm’ 9o gt v @@
CTITEATT Te=ma=t @ Fare 232 [K, =1.33x107)

(a) 1.50x107 (b)) 2.0x107  (c) 1.33x10 (d) 0.126 (e) 2.0x10°
TAIGH: (a); pH = pKa + log— = 4,75+ log(1.33x107%) = Maan
D LI

— 104,?5+lng{t.33:.:|[:-'-‘1- _ ng, =n,_, = 01496mol
0.02

75. Americium 9 S & 1.25amu TE SR 59 *fE Mev - @ Z(E?
() 1867.50Mev (b) 932.50Mev (c) 11671Mev  (d)1167.18Mev  (e) 1170.20Mev

TargE: (d); E=mc® =1.25x1.66057x1077 x(3x10%)? +1.6 107 +10° =1167.18MeV

Afe

76. Study hard if you want to pass in the admission test at KUET. 'In this sentence, the word hard is

used as- [Ans : b]
(a) Adjective (b) Adverb (c) Conjunction
(d) Preposition (e) Redundancy

77. Bangladesh team scores 250 runs. In this sentence, Bangladesh is used as— [Ans : d]
(a) Relative pronoun (b) Reciprocal pronoun (c) Noun
(d) Adjective (e) Reflexive pronoun

78. I'want to have it done within one week. In this sentence, the word have is used as- [Ans: c]
(a) Finite verb (b) Adverb (c)Transitive verb
(d) Auxiliary verb (e) Reflexive verb

79. The correct feminine gender of Nephew is: [Ans : a]
(a) Niece (b) Nephewess  (c) Niphee (d) Mamma (e) Nepheis
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80. The correct plural form of Radius is— ‘ [Ans : c]
(a) radius (b) radies (c) radii (d) radiuses (e) radians

81. Antonym of the word Trivial is— [Ans : c]
(a) unexpected  (b) uncertain (c) important (d) unusual (e) frivolous

82. The correct passive form of the sentence—The novels of Tolstoy interest me.—is- |Ans: a]

(a) I am interested in the novels of Tolstoy
(b) I am interested with the novels of Tolstoy
(c) I am interested to the novels of Tolstoy
(d) I am interested by the novels of Tolstoy
(e) I was interested by the novels of Tolstoy

83. The correct indirect speech of the sentence—I said to hih’n, "Excuse me, sir.'"—is: [Ans: c]
(a) I begged him to excuse me. (b) I said him to excuse me.
(c) I told him to pardon me. (d) I told him to excuse me.

(e) I said him to pardon me.
84. The correct simple form of the sentence — She danced as if she were an expert dancer. — is:

(a) She 1s dancing with an expert dancer. (b) She is dancing like a expert dancer.
(c) She danced like a expert dancer. (d) She danced an expert dancer.
(e) She danced like an expert dancer. - [Ans : €]

85. People who lives in glass houses should not throw stones. Which underlined part of the above
sentence 1s incorrect? [Ans : b]
(a) who (b) lives in (¢c) houses (d) should (e) throw

86. The Professor had already given the assignment when he had remembered that Monday was a
holiday. Which underlined part of the above sentence is incorrect? [Ans : c]
(a) had already  (b) assignment  (c) had (d) remembered (e) wasa

87. The new student's progress advanced forward with such a speed that his teachers were amazed.
Which underlined part of the abuse sentence is incorrect? [Ans : b]
(a) new (b) advanced forward (c) such
(d) that (e) amazed

88. Bangladeshisa _ country, Choose one word or phrase that best complete the sentence. [Ans: c]
(a) poverty-strike (b) poverty-striken (c) poverty-stricken
(d) poverty-strick (e) poverty-strucke

89. The changes in Khulna University of Engineering and Technology have occurred ----------
Choose one word or phrase that best complete the sentence. [Ans : b]
(a) with swiftness (b) rapidly (c) fastly (d) in rapid ways (e) very fastly

90. He need not...... the proposal. Choose one word or phrase that best complete the sentence.[Ans: b]
(a) to accept (b) accept (c) accepted (d) accepts (e) accepting

91.  Find out the correct one from the following sentences: [Ans: d]
(a) He likes to fish, swim, and surfing (b) He likes fishing, to swim, and surfing.
(c) He likes to fish, to swim, and surfing (d) He likes to fish, to swim, and to surf.
(e) He like to fish, to swim, and to surf.

IR | | ST




92. Find out the correct one from the following sentences: [Ans : d]
(a) Credit 1t in my account. (b) Credit it with my name
(c) Credit it to my name. (d) Credit it to my account.
(e) Credit it with my account.
93. Where have you come .......... this money? Choose an appropriate preposition to fill up the blank.
(a) to (b) round (c) of (d) by (e) off [Ans : d]
94. Find out the correct translation into English of the sentence- SISEFR 552 I3 | |Ans : €]
(a) This 1s the fashion of the period. (b) It's a fashion today
(c) This is the go of the day. (d) This is the style of the day
(e) This 1s the fashion of today
95. Ahmad will appear at the admission test of KUET this year, ......... ? Choose the appropriate tag
question. [Ans : ]
(a) willnot he  (b) will he (c) won't he (d) isn't he (e) doesn't he

96. During the liberation war in 1971, he was forced to flee his country. Choose a word or words
which would best keep the meaning of the given sentence if it were substituted for the word flee.
(a) return to (b) escape (c) fight (d) disembody (e) fly * [Ans : b]
Questions 97-100 are based on the following reading.
In 776 B.C. the first Olympic Games were held at the foot of Mount Olympus to honor the
Greek's chief god, Zeus. The Greeks emphasized physical fitness and strength in their education
of youth. Therefore, contests in running, jumping, discus and javelin throwing, boxing, and horse
and chariot racing were held in individual cities, and the winners competed every four years at
Mount Olympus. Winners were greatly honored by having Olive wreaths placed on their heads
and having poems sung about their deeds. Originally these were held as games of friendship, and
any wars in progress were halted to allow the games to take place.
The Greeks attached so much importance to these games that they calculated time in four-year
cycles called "Olympiads" dating from 776 B.C.

97. Which of the following is not true? [Ans : b]
(a) Winners placed olive wreaths on their own heads.
(b) The games were held in Greece over four years.
(c) Battles were interrupted to participate in the games.
(d) Poems glorified the winners in song. b
(e) The first Olympic Games were held in 776 B.C.

98. Why were the Olympic Games held? [Ans : c]
(a) to stop wars (b) to crown the best athletes
(c) to honor Zeus (d) to sing songs about the athletes
() to observe the independence day of Greece

99. Which of the following contests was not mentioned? [Ans : c]
(a) discus throwing (b) boxing (c) skating
(d) running (e) jumping

100. What conclusion can we draw about the ancient Greeks? [Ans : b]
(a) They liked to fight. (b) They were very athletic
(c) They liked a lot of ceremony  (d) They liked to drink wine
(e) They could not count, so, they used "Olympiads" for dates.
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